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1. (a) Answer in one sentence :

by qTe Te faa

1xq4=4

(i) What is money measurement concept?

TER B SR 4R @ 2

(i) What is the main purpose of business income?

I A T S R 2

(i) What is Del Credere Commission?

wiftm 7ER &2

(iv) What is Trial Balance?
Tge Rem-[a &2
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(b) Select the correct alternative answer : 1x4=4

o% Ren Tevh Tk Sferea :
{i) Realization A/c is a/an

20P/405

(@

(i)

(iv)

el R T Ry

(1) Revenue Afc
ez ol

(2) Assets Alc
i S REUY

(3) Nominal Afc
TR o

Joint venture with other Coventure Afcis a
T g oo S SREAMK 1 T <o
(1) Personal A/c
TReare o
(2) Real A/cC
R Bt
(3) Nominal Afc
e 2

Depreciation is 2 process of
T XA
(1) valuation
R Ry sffér
(2) allocation
WG Ry 2
(3) selling
R oy i
Branch A/c prepared under Final A/c system is in the nature of

7OT8 T <rafo SO 270 T 1 Rov oo X

(1) Assets A/c
soife P

(2) Liability A/¢
wRREeR 2511

(3) Revenue Afc
ez B




2, Write short notes on (any foun : 4x4=16
oy (ot Tt (R e wife)

fa) Qualitative characteristics of accounting information
RoriRaR @ AFRIR

(b) Need of IFRS
IFRS 3 gearsagel

{c) Revenue recognition
e PR

(d) Records at Head Office
0 IR R

(e) LIFO and FIFO methods

LIFO WIF FIFO *I%f&mR

(7 Rights of hire purchaser

I (FOR SRFPIR

3. The partnership firm of X, Y and Z was djssolved on 1st April, 2018. Their
financial position just before dissolution was as follows :

X, Y OIF Z SRl IR ST IR 1 9, 2018 OIRTY | (oo Ry sy

SR SIS TS a1 4199 iRy
Liabilities Amount Assets Amount
PR M =GR TR
¥ (6) ¥ @)
Creditors 12,000 Cash 12,000
AISIMR M
Bank Loan 15,000 Debtors 23,000
@ 4 TR
Capital : Stock 16,000
T4 TS A
X 20,000  Furniture 10,000
Y 23,000 HRRAE
z 24,000 Investment 33,000
Rtz
94,000 94,000
———
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Assets were realized as under :
Debtors—¥ 19,000; Stock—¥ 13,000; Furniture—¥ 7,000 and
Investment—¥ 35,000. Bank loan is paid in full. One computer printer
(book value—nil) was taken over by X for ¥1,000. One customer paid
¥ 2,000 which was earlier written-off as bad debt. Dissolution expenses
amounted to ¥ 3,000. Mr. Gangadhar, the Manager of the firm was paid a
gift of 2,000 for his long service in the firm. Creditors were paid ¥ 1,000
less.

You are required to prepare the Realization A/c, Partners’ Capital A/cs and

Cash A/c. The partnership deed was silent on the profit-sharing ratio.

8+4+2=14

oo Rl et oI amE 9 R
(@ MR—19,000 591, @ *IT—13,000 B, WRRTE—7,000 T W@
RFTI—35,000 5911 @ ¥ T ARONY T W1 @B IR ASK
(B Jo7— ) Rl T 1,000 BFS X-4 5% 770 1 ot s o PR 3w
¢ 2,000 B ARCNY FCI | PN TP 36 3,000 T 1 IR <iRve R,
NN (oo T CRR AR 2,000 B3 Borgs e | *neamm= 1,000 B3

FE ey F7 |

oY ST Rotet, e T oIt I o 4 2191 20 R | wAre-+Areq wiey
Reara TS e 5 PR AR |

Or / =l
What do you mean by dissolution of a partnership firm? Exp;la.in the various

modes of dissolution of a partnership firm. 5+9=14
AR A g ST B SR 2w g wemeR Rida

THISTZ 391 41

4. Guwahati Head Office opened a Branch at Barpeta. The Head Office supplies
goods to its Branch at Barpeta at cost. The Branch sells goods for cash and
credit and remijts the proceeds to the Head Office promptly. The Branch
expenses being met by the Head Office by cheque. The following are the
transactions relating to the Branch for the year ended 31st March, 2019 :

SarRB) T oy IS O T T I )y SRR R TS TP |
iR T S e 7@ R PR T T G T Frfioier R W | T PR 479
AR TR Ty ok T 31 T, 2019 Wiy MR F91S STooF I EFRCTEAR

were frl 79
e (6
Stock at Branch on 01.04.2018 80,000
01.04.2018 WIREY *TRE M
Debtors at Branch 01.04.2018 1,00,000

01.04.2018 @iy *MM CrTmIY
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Goods sent by the Head Office to
the Branch during the year 6,00,000

JLACOTS ML (oIS 403
Cash sales at Branch 3,00,000
=T A5 R
Credit sales at Branch 5,60,000
1S AP R
Goods returned by Branch 30,000
% AR ¥ I
Goods returned by customers 25,000
AZF AN R 71
Cash received from debtors 5,20,000
CAMIPIFE ST CTE 5% 4]
Discount allowed to customers 30,000
AT A8 T =
Bad debts written-off 15,000
STARAE 4 SRR I T
Cheque sent to Branch for expenses :
YA LA IRW T PR TP “(f3am
¢ (5%
Salaries ‘ 70,000
w{gY
Rent 25,000
STl
Petty Expenses 8,000
T4 IR
Stock at Branch on 31,03.2019 1,00,000

31.03.2019 Iy "R} TS TSR
Prepare Branch A/c and goods sent to Branch A/c in the books of Head Office,

Also prepare Branch Debtors A/c in a working note. 5+5+4=14
4 e 4 T ot W ket srcdan Rpret erge 31 1 IR BTSSR g
AR fRoieen 2 I YA |
' 5
20P/405 [P.T.O.
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Or / g2=7

(a) What is Branch Accounting? Explain the needs of Branch Accounting. ‘
| 2+3=5
11 fRbrey 5 9 X1t RBp1eI LGRS ST9IcE A 41 |

(b) Briefly explain the treatment of the following items in Branch A/c : 3x3=9
MR Rpere fafiRe REEn @R Reasa 21 =, S e <4 -

(i) Cash in Transit
SRS 2 A 4

(1) Goods in Transit
SEIS IF1 ATEN

(i) Inter-branch Transaction
YR qere (RIE! CET

5. Following is the Trial Balance of Dhanjit and Devajit as on 31st March, 2019,
. e
You are required to prepare—

e 31 W6, np1o R e WIF (et e Rem-om i 271 o wm ey
4TS Fq—

(a) Trading A/c;
- e,

(b) Profit & 1,0ss A/c for the year ended 31st March, 2019;
31 6, 2019 7 FS-CEAFEA o1%;

(c) Balance Sheet as on that date :

% IR “H 4+5+5=14
o7 Trial Balance / €5 fie-og
Dr. Balances T 6) Cr. Balances . (TLWI)
80,000  Capital
Stock on 01.04.2018 ’ apital :
01.04.2018 ©IR4T HRef e[ T4
2,00,000 Dhanjit
Purchases R 1’60,000
&
Bills Receivable 2,000 Devajit 1
21y e v 00,000
Cash in Hand 13,000

2T o Gl Ry o 75,000

20P/405 6



Dr. Balances & o= Cr. Balances Z =)
o5 RISTR Tl RS

Bad Debts 1,000 Bank Loan 43,600
FTERAY 4 QAR ¥
Machinery 66,000 Sales 4,20,000
TS R&
Advertisement 8,000 Bills Payable 20,000
fRewem o Ra
Sundry Debtors 50,000 Interest 5,000
Ry ¢MR e
Goodwill 70,000
)
Land and Building 2,25,000
S o T
Fuel 15,000
G0

~ Wages and Salaries 40,000
TgR ¢ R
Rent and Taxes 20,000
Y A® F9
Discount 8,600
g
Commission 10,000
=
Furniture 15,000
HHIRAE

The following adjustments are to be made :
oo T STCAIEAPTR $RT 7P
(ij Closing Stock on 31st March, 2019—¥ 60,000
- 31 6, 2019 BRI el TRMA TS 9453 375—60,000 T3

(i) Depreciate Machinery by 10% and Furniture by 5%
TS 10% TS AT LI 5% Z0 s 4 I 71T

(i) Create Reserve of 5% on Sundry Debtors for Bad Debts
SCATEAS A9 A 5% TS WA 7w FRI =MW

(i) Write-off 4th of advertising °

e 79 4 s Rt R3 7w

o0P/405 7 | (PTo.
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(@) What do you mean by depreciation? Differentiate between straight-line

method and written-down value method of providing depreciation. 2+5=7
@ 4fia R qal ) ok Z-RE Aae A RS- (el e
forefy =1 |

(b)) What do you mean by inventory valuation? Write the significance of
inventory valuation. 3+4=7

W@WwWﬁWQW@WW &g fordn 1

6. On 1st July, 2018, Prakash Ltd. purchased a machine from Bikash Ltd. on
hire-purchase system. The cash price of the machine was ¥ 1,20,000. The
payment was to be made & 9,200 on the date of contract and four half yearly
instalment of ¥ 32,000 each commencing from 31st December. Rate of interest
charged 12% per annum. Prakash Ltd. has decided to write-off 20%
depreciation per annum on diminishing balance of cash price. On 30th June,
2019, Prakash Ltd. could not pay the 2nd instalment and as a consequence
Bikash Ltd. repossed.
From the above particulars, calculate the cash price of the machine and
prepare the following Ledger Accounts in the books of Bikash Ltd. : 14

(a) Machinery A/c

(b) Prakash Ltd.’s A/c

oer FfChTS 1 w2, 2018 SfRcd @bl bR Rert fFfcbes o1 wro-w ormfvs @
SR | AR 7o o8 SIfE 1,20,000 B 1 56 PR peeias Frele comm et wies)
9,200 531 fo = = @ @l SR BT = ¥ Rof¥e 32,000 Beitw “ifieeiy wRe
afor | 212 ReRech) fReraaa 31 IR °R1 SIS 29 | =f 0% o1 21 12% oo #{figey
< AR | o fifiiciee Gbad RS T 20% 2H® FHRPWA “fafos S 4r{ 9 |
30 o, 2019 wifiys aer TR fHoR R ARen hate el crrs @,

239 |
GWGWWWWWWWﬁWﬂWWWWWﬁWW
f2p1el 2rge 91 :
(a) 7@ o1t
(b) e Fificoeq o
Or / &=1

(a) Define consignment. Discuss fully the nature of relationship betyw

consignor and consignee. cen the

BTeTR e i | AT (A S DT 2ATR Arerq 7ofch ety wetmoen <oy | 2+5=7
(b) What do you mean by Joint Venture? Explain the f

t ;
Venture. catures of Joint
@ Tpms R gferce 7€ @12 A2 STs e CAPBITTR < <y | 2457
* % *
20P—2000/405 8
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